1	tem Code	Item Description	MOU	Qty	Unit Price	Amount	1	Work Done %	RA Amou
1		Floctrical	NOS	1.000		A COLUMN TO THE PARTY OF THE PA		Work Done %	KA AMOU
1									
		Triple pole and neutral distribution board (VTPNDB with vertical			Harris and Control				
2		husbar) with Double door surface flush mounted comprising of following -							
2	a.1		Each	0.000	27500.00	0			
3		Incomer						10.21	
		100A , TM based MCCB of 25kA with O L S C & F Protection - 01							
5									
_		Outgoing							
6		6 32A SP MCB - 24 Nos			A STATE OF THE STA				
7		6 32 Amp TP MCB- 8 Nos							
8		With all necessary connections			国际发展的				
		Triple pole and neutral distribution board (VTPNDB with vertical							
9	a.2	bushar) with Double door surface flush mounted comprising of following -						- 1	
10	4.4	Incomer	Each	1.000	25000.00	25000		701 198%	_ 22
10									
11		63A., TM based MCCB of 25kA with 0 L, S C E F Protection - 01							
12		Outgoing							
13		6 32A SP MCB - 18 Nos							2.72.00
14		6 32 Amp TP MCB- 6 Nos							
_									
15		With all necessary connections							
		Triple pole and neutral distribution board (VTPNDB with vertical							
16	. ?	busbar) with Double door surface flush mounted comprising of		0.000	200				
16	a	following-	Each	0.000	22500.00	0			
1/		Incomer [63A TM based MCCP of 25kA with O.L. S.C. E.S. Protection, O.L.							
18		63A, TM based MCCB of 25kA with 0 L, S C E F Protection - 01 No							
19		Outgoing							
20		6 32A SP MCB - 12 Nos							
_									
21		6 32 Amp TP MCB- 4 Nos							
22		With all necessary connections TPN DB							
23		IPN DB	E. Control						
		DR 1 11) 11/1 - C 1004							
		DB shall have separate neutral links of rating not less than 100A							
		for each phase. The main incoming neutral link shall be in	Carl	0.000	25000.0				
24	b.1	addition to three outgoing neutral links and shall be of 125A.	Each	0.000	23000.0				
25		Incomer		-					
26		63A FP, MCB of 10kA - 01 No							2.000
27		Sub Incomer							
28		3Nos, DP, 63A, RCBO (30mA).			N Comment				
29		Outgoing							
30		6 32A SP MCB - 30 Nos					C Participan		
31		With all necessary connections							
		The state of the s			A TO SERVICE				
		Triple pole and neutral distribution board (TPNDB) with Double door surface flush mounted of 8 way (4+24 Module) 4 Horizontal			the state of the s				
22	L 7	Rows in 4 Vertical tiers configuration comprising of following -	Each	0.000	22500.0	00	0		
32	0.2	Rows in 4 vertical dels configuration comprising of following	Lacit	0.000					
		DB shall have separate neutral links of rating not less than 100A							
		for each phase. The main incoming neutral link shall be in							
		addition to three outgoing neutral links and shall be of 125A.							
33		DD 6 Door or working of							
		8 Way TPN Double door type DB for Power comprising of							
34		following -	1						
35		Incomer Of No.							
36		40A FP MCB,10kA - 01 No							
37	1 4 34	Sub Incomer				The second second second second			
38		3Nos, DP, 40A, RCBO (30mA).							
39		Outgoing 10 New							
40		6 32A SP MCB - 18 Nos							
41		With all necessary connections				50 Page 12 Pag			
1		The state of the s							
		Triple pole and neutral distribution board (TPNDB) with Double	d						
		door surface flush mounted of 6 way (4+ 18 Module) 4 Horizonta	Each	0.000	18500	.00	0		/ 3
42	b.3	Rows in 4 Vertical tiers configuration comprising of following -	Lacii	0.000					
		I like of which not loss than 100A							
		DB shall have separate neutral links of rating not less than 100A	A CONTRACT						
		for each phase. The main incoming neutral link shall be in			The state of the s				
43		addition to three outgoing neutral links and shall be of 125A.							
		8 Way TPN Double door type DB for Power comprising of						ALCOHOL:	200
44		following -							
45		Incomer							
46		40A FP MCB,10kA - 01 No							
47		Sub Incomer							
48		3Nos, DP, 40A, RCBO (30mA).							
49		Outgoing		-					
50		6 32A SP MCB - 12 Nos	0						
51		With all necessary connections		-			100	1 Tel 18 18 18 18 18 18 18 18 18 18 18 18 18	
52		CDN DB	-						1
52		12 Way SPN Double door type DB for Power comprising of			000	0.00	0		
	The second second	following -	Each	0.000	850	0.00			24

Apod My

	2.93	Incomer						
55		32A DP MCB × 01 No						
56		Outgoing	W 1500					
57		6 32A SP MCB - 12 Nos	Mark Day					
58		16A SP MCB -05 Nos						
59		With all necessary connections	000000					Marine Marine Marine
		B Way SPN Double door type DB for Power comprising of following -		100000000000000000000000000000000000000				
60			TO SEC.				/	
61		Incomer	Each	2.000	7500.00	15000	700	13500
62		25A DP MCB - 01 No	A SECTION				77	
63		Outgoing	Section.	S PROPERTY S	THE PROPERTY OF THE PARTY OF TH		HARAGON BUSINESS OF THE PARTY O	
64		16A SP MCB - 04 Nos	Harane			CARD CONTRACTOR OF THE	STATE OF THE PARTY	
65		10A SP MCB - 02 Nos		District of		Biology in a surre-passed in	COLUMN TO SERVICE STATE OF THE SERVICE STATE STA	ALCO COLUMN
66		With all necessary connections	PROPERTY.					Note that the
67	- 2	6 Way SPN Double door type DR for Power	Part of the last	Fill of the little of				
68								
69			Each	0.000	6500.00	0		0
70		16A DP MCB - 01 No						
71		Outgoing						
72		10A SP MCB - 03 Nos					Control of the Section Section	
73		16A SP MCB - 1 No		Control Control				
74		With all necessary connections						
1		Isolators ELCB RCBO SWITCH SOCKETS		1				
75	a.1			S S S S S S S S S S S S S S S S S S S				
100	D.A.	Supply, installation, testing comissioning of DP isolator of 25 A	Each	0.000	950.00	0		
76	5 a.2						O.C. San Descriptions has	L L
		Supply, installation, testing comissioning of DP isolator of 32 A	Each	2.000	1250.00	2500	0%	0
77	7 a.3	Supply installation testing				The state of the s	570	U
	B a.4	Supply, installation, testing comissioning of DP isolator of 40 A	Each	0.000	1560.00	0		0
	9 a.5	Supply , installation, testing comissioning of DP MCB of 25 A Supply , installation, testing comissioning of DP MCB of 32 A	Each	0.000	1250.00	0	CONTRACTOR OF THE PARTY OF THE	0
	0 a.6	Supply, installation, testing comissioning of DP MCB of 32 A Supply, installation, testing comissioning of DP MCB of 40 A	Each	2.000	1550.00	3100	0%	0
	To the second	Supply, installation, testing comissioning of DP MCB of 40 A Supply, installation, testing comissioning of FP ELCB of 25 A,	Each	2.000	1560.00	3120	0%	0
81	1 a.7	100mA	Rach	2.000				
		Supply , installation, testing comissioning of FP ELCB of 40 A,	Each	2.000	2850.00	5700	0%	()
82	2 a.8	100mA	Each	0.000	3500.00			
	No. of the last of	Supply , installation, testing comissioning of FP RCBO of 63 A.	Cacii	0.000	3300.00	0		- 0
8	3 a.9	100mA	Each	0.000	2850.00			
8	4 a.10	Supply, Installation, testing comissioning of 10 amp TPN MCB	Each	0.000	2250.00	0		0
	5 a.11	Supply, Installation, testing comissioning of 32 amp TPN MCB	Each	0.000	2850.00	0		0
8	6 a.12	Supply, Installation, testing comissioning of 40 amp TPN MCB	Each	0.000	3250,00	0		0
								0
8	7 a.13	Providing and fixing TPN DP enclosure box for Indoor purpose	Each	0.000	2500.00	0		0
-		Providing and fixing TPN DP enclosure box (Wheather Proof) for				Chine Control of the Control		0
	8 a.14	outdoor purposes	Each	0.000	3250.00	0		0
89		Providing and Fixing 16 amp single phase Industrial socket	Each	0.000	1850.00	0		0
90	0 a.16	Providing and Fixing 25 amp single phase Industrial socket	Each	0.000	2550.00	0	AND A STATE OF THE PARTY	0
92		Providing and Fixing 25 amp three phase Industrial socket ISOLATOR - (BEFORE SERVO STABILIZER)	Each	0.000	3285.00	0		0
9,	2 0	125A FP, 25kA Thermal Magnetic based MCCB with LSIG						
		Protection with Box (As per the instruction of the Engineer						
9	3 b.1	Inchrge)	Each	0.000				
	017	100A FP, 25kA Thermal magneticr based MCCB with LSIG	Each	0.000	15550.00	0		(
		Protection with Box(As per the instruction of the Engineer						
94	1 b.2	Inchrge)	Each	1.000	12500.00			1
	5 c	6 16 Amp Electrical Top	Each	4.000	350.00	12500	0%	
			NATURE OF		330,00	1400	0%	
		Point wiring shall include FRLS wire with all necessary MMS PVC						
		CONDUIT, with all fittings, accessories, couplings, collars etc.,						
0		junction pull inspection boxes, wires, supports, bushings lamp						
96	2	holders, ceiling rose, flexible conduit, fan hooks wher						
		Wiring for the following light points with 2X1.5 sq mm PVC						
		insulated copper conductor 650V grade FRLS wires in concealed or surface mounted 20 25mm dia MMS PVC conduit as required						
		including providing 6 amps flush type PVC moulded switches,						
97	d	cover plate,5 s						
	d.1	Primary (First) light point controlled by a 6A switch.	Nos	0.000				
	d.2	Primary (First) light point controlled by a MCB in the DB.	Nos	0.000	1850.00	0		
200	2000	Secondary (Loop) light point looped to first point and so on (upto	,103	0.000	1250.00	0		
00	d.3	6 mtr) wire length	Nos	0.000	1050.00			
				5.500	1050.00	0		
		Supply, Installation, Testing Commissioning of mains with 2 X						
		1.5 sq.mm and earth wire 1.5 sqmm FRLS PVC copper wire in						
		rigid MMS PVC conduit min.25 mm dia, for light fan exhaust point						
01	d.4	from DB to point including all required accessories,etc as per sp	RMT	0.000	105.00	0		
		Supply, Installation, Testing Commissioning of mains with 2 X	1		203/00	V AND		
		2.5 sq.mm and earth wire 2.5 sqmm FRLS PVC copper wire in						
		rigid MMS PVC conduit min.20 mm dia,including all required						
02	d.5	accessories,etc as per specification.	RMT	0.000	120.00	0		
		Supplying erecting mains with 2x4 sq.mm and earth wire 2.5						
	86.0	sqmm FRLS PVC copper wire laid with conduit trunking inside						
	d.6	pole Bus bars or any other places.	RMT	0.000				

Amalon 3/2

	-	Wiring for the following light points with 2X1.5 sq mm PVC						
	1							
		or surface mounted 20 25rmm dia MS conduit as required including providing 6 amps flush type PVC moulded switches.						
204	0	I OVEY DIRECT SECTION OF THE PROPERTY OF THE P						
10	6.1							
106	6.4	Primary (First) light point controlled by a 6A switch. Secondary (Loup) light point point point governed by a MCB in the DR	Nns	4.000	1050.00	4200	50%	2100
107	6.3	Secondary (Loop) light point looped to first point and so on (upto 6 mtr) wire length	Nos	4.000	1550.00	6200	50%	3100
			Nos.	8.000	Anna da			
		Supply, Installation, Testing Commissioning of mains with 2 X	1100	8,000	1250.00	10000	50%	5000
		ITTERED MN complete and the second se						
108	0.4	The to point includes a second of the lan exhaust noint feats						
		Supplied Installation of	Rintr	0.000	170.00			
		16.2 Sti form and another the street of the state of the	Anna	0.000	125.00	1000	50%	500
109	6.5	Tikin MS comdun min as						
110		Power Point wiring	Dinte	0.000				
		All switch sucket was	Rmtr	0.000	230.00	0		0
		All switch socket wiring shall be carried out for primary point using 3x2.5 sq mm wire in PVC Conduit for connection of 6 16amp socket. Individual junction is properly.						
		Toamp socket Indoor						
111		provided for each Power Point for the purpose of looping with						
		First Point wiring with 64 Sales 18			4			
112	Ц	First Point wiring with 6A.5pin wall socket outlet and controlled by a 6A switch						
113	1.2	Extra loop point wiring with a A.	Nos	0.000	1850.00	0		
		controlled by a 6A switch upto 6 mtr length	Nos	0.000	1250.00			
114	13	by a 16A switch	19 5 10		1230,00	0		0
11-		Extra loop point wiring with 164 Eastern 8	Nos	0.000	2250.00	0		
115	1.4		Nos	0.000				0
		- restriction to Amp Switch speket mutlet in C. L. S.	1402	0.000	2500.00	0		0
		additional means switch socket in modular box and plate adjoining the existing one on the same circuit.) Wire will be paid in R				•		
116	1.5	in R	Nos	0.000	450.00			
		All materials and	IVUS	0.000	450.00	0		0
		All switch socket wiring shall be carried out for primary point using 3X4 sq mm wire in PVC Conduit for connection of 16 amp						
		individual junction inspection haves shall be provided						
117	g	for each Power Point for the purpose of looping with cheisling						
118	gl	First Point wiring with 16A, 3Pin combined shuttered wall socket outlet and controlled by a 16A one way switch with indicator.						
		Extra loop point wiring with 16A, 3Pin combined shuttered wall	Nos	5.000	2500.00	12500	50%	6250
		socket outlet and controlled by a 16A one way switch with						02.10
119	g.2	Indicator.upto 6 mtr wiring	Nos	16.000	2250.00	36000		/
		Additional 16 Amp Switch socket outlet in G.I. Box on modular cover plate adjoining and looped from the existing point. (Note-				36000	50%	18000
		additional means switch socket in modular box and plate						
		adjoining the existing one on the same circuit.) . Wire will be paid						
120	g.3		Nos	0.000	2250.00	0		
		Supply and Laying of Wiring for light power plug with 4X4 sq.			2230,000	U		0
		mm FRLS PVC insulated copper conductor single core wire in surface recessed medium class MMS PVC conduit alongwith 2						
		Nos. 4 sq. mm FRLS PVC insulated copper conductor single core						
121		cable for lo	Rmtr	150.000	295.00	44250		
122	a)	Power Point wiring (MS conduit)			2,200	44250	50%	22125
		All switch socket wiring shall be carried out for primary point using 3x2.5 sq mm wire in MS Conduit for connection of 6						
		16amp socket. Individual junction inspection boxes shall be						
		provided for each Power Point for the purpose of looping with						
123		cheisling		8 S				
124	h.1	First Point wiring with 6A,5pin wall socket outlet and controlled by a 6A switch	Nes	2.000				
		Extra loop point wiring with 6A, 5 pin wall socket outlet and	Nos	3.000	2050.00	6150	50%	3075
125	h.2	controlled by a 6A switch upto 6 mtr length	Nos	4.000	1850.00	7400	50%	-2700
126	h3	First Point wiring with 16A,5pin wall socket outlet and controlled by a 16A switch			100	, 100	30%	3700
120		Extra loop point wiring with 16A, 5 pin wall socket outlet and	Nos	2.000	2250.00	4500	50%	2250
127	h.4	controlled by a 16A switch upto 6 mtr length	Nos	2.000	1950.00	2722		1 1 1 1 1
			1103	Liuo	1850.00	3700	0%	0
		All switch socket wiring shall be carried out for primary point						
		using 3X4 sq mm wire in MS Conduit for connection of 16 amp socket. Individual junction inspection boxes shall be provided						
128	j	for each Power Point for the purpose of looping with cheisling a					e e	
				1 Sec. 10 May 1			Control of the contro	
		First Point wiring with 16A, 3Pin combined shuttered wall socket						
129	1.1	outlet and controlled by a 16A one way switch with indicator. Extra loop point wiring with 16A, 3Pin combined shuttered wall	Nos	4.000	2500.00	10000	50%	5000
		socket outlet and controlled by a 16A one way switch with	200					
130	12	indicator.upto 6 mtr wiring	Nos	3.000	2250.00	6750	50%	33"5
					200,00	0,00		

Jugard 724

		applying and fixing of following sizes of medium class PVC					
		conduit along with accessories in surface recess including cutting					
		the wall floor and making good the same in case of recessed					
	A	conduit as required		0.000	105.00	0	The state of the s
	1	25 mm	Rmtr	0.000	105.00	0	
	-	32 mm	Rnitr	0.000	110.00 145.00	0	
	1	40 mm	Rmtr	0.000	135,00	0	
	1	50 mm	Rmtr	0.000		0	
B	10		Rmtr	0.000	165.00		
	1	Supplying and fixing of following sizes of MS conduit along with	The state of				
		accessories in surface recess including painting in case of surface					
12	N.	conduit, or cutting the wall and making good the same					
	k.1	in case of recessed conduit as required.			105.00	2520	
9	k.2-	25 mm	Rmtr	24,000	105,00	7650	7 A 55% 65
-	k.3		Rmtr	30.000	255.00	0	190
-		32 mm	Rmtr	0.000	275.00	0	
-	k.4	40 mm	Rmtr	0.000	295.00	0	Control of the Contro
2	k.5	50 mm	Rmtr	0.000	650.00	U	
1		Supplying erecting MMS PVC flexible Conduit 25 mm	1000	A TRANSPORT			
ı		dia conforming to LS, and approved make with required number					
3		or couplings, bushes, check nuts etc.	Rmtr	0.000	250.00	0	
1		Supplying erecting M.S flexible Conduit 25 mm dia conforming to	10010				
1		1.S. and approved make with required number of couplings,					200
1	m	bushes, check nuts etc.	Rmtr	10 000	85.00	850	0%
Ť	(C) S (C) S	Supplying erecting PVC flexible Conduit 50 mm dia.conforming	Killel	40.000			
1		to I.S. and approved make with required number of couplings.	1				
	n	bushes, check nuts etc.	n	8.000	650.00	5200	0%
+			Rmtr	0.000			
-		Supply, Installation, Testing Commissioning of G.I Conduit 32mm					
1		dia with necessary accessories in wall floor with chiselling		0.000	270.00	0	and the second second
5	0	appropriately as per specification.	Rmtr	0.000			
1		Supply, Installation, Testing Commissioning of G1 conduit 25					
		mm in dia with necessary accessories in RCC work false ceiling			250.00	0	
7	p	false flooring as per specification	Rmtr	0.000	230.00		
8		LT CABLES TERMINATIONS	157515			A STATE OF THE PARTY OF THE PAR	
			E SERVICE				
		Supply, Errecting, Termination Commissioning of following sizes					
1		of 1.1 KV grade FRLS Armoured Unarmoured Copper Aluminum					
		conductor cables laid over MS supports cable racks trays or fixing					
9		on walls including clamping the cable to supports cable racks or				0	The state of the s
_	a.1	4Cx16 Sq.mm AL Arm. XLPE	Rmtr	0.000	0.00	0	and the second s
-		4Cx25 Sq.mm AL Arm. XLPE	Rmtr	0.000	0.00	The state of the s	
-	a.2		Rmtr	0.000	0.00	0	En La Company
_	a.3	3Cx2.5 Sqmm Cu. Arm. XLPE	Rmtr	0.000	0.00	0	
_	2.4	3Cx4 Sqmm Cu, Arm. XLPE	Rmtr	0.000	0.00	0	Activity Activities (Control of Control of C
4	a.5	3.5Cx35 Sq.mm AL Arm. XLPE	Rmtr	0.000	0.00	0	
5	a.6	3.5Cx50 Sq.mm AL Arm. XLPE		6.000	850.00	5100	0%
6	a.7	3.5Cx70 Sq.mm AL Arm. XLPE	Rmtr	0.000	0.00	0	
7	a.8	3.5Cx95 Sq.mm AL Arm. XLPE	Rmtr		450.00	0	
8	a.9	4Cx2.5 Sq.nim Cu. Arm. XLPE	Rmtr	0.000	450.00	0	
	a.10	4Cx4 Sq.mm Cu. Arm. XLPE	Rmtr	0.000	550.00	0	ALC: N. S. C.
0		4C x 6 sq.mm Cu. Arm. XLPE	Rmtr	0.000	285.00	1140	0%
_		4Cx10 Sq.mm Cu. Arm. XLPE	Rmtr	4.000		0	THE RESIDENCE OF SHIP SHIP SHIP SHIP SHIP SHIP SHIP SHIP
1	a 12	4C x 16 sq.mm Cu. Arm. XLPE	Rmtr	0.000	0.00		control programs a more referred programs.
2	a.13	Supplying and making indoor Cable end Termination of following					
		sizes 1.1kV grade LT XLPE insulated, HR PVC sheathed, stranded					
		Aluminum copper conductor, Armoured Unarmoured cables as					
		per IS 7098 part-l including cost of tinned copper Aluminium					
3		heavy du 2 3 3.5 4 CORES AL. CABLE WITH AL. LUGS		Name of the last			
4	b		It	0.000	0.00	0	
5	b.1	35 sq.mm.	_	0.000	0,00	0	MAN DEPOSIT A MAN TO SERVE AND ASSESSMENT
_	b.2	50 sq.mm.	Jt .	0.000	0.00	0	
7		70 sq.mm.)t	0.000		"在"的"一"的"一"的"一"的"一"	
	0.0	Multigage Flexible Cables 1100 Volt Annealed Bare Electrolytic					
		High Conductivity Copper Conductor Flexible PVC Type A					
		Insulated PVC ST-1 Sheathed Cables in existing Conduit					
		Conforming to IS 694 1990 Including Making Both End		0.000	0.00	0	
0		terminations with con	Rmtr	0.000	0.00		
8	L.	3C x 2.5mm2 1100V grade flexible copper conductor sheathed	A STATE OF		0.00	0	
		ELDS DVC cable (P. N. IG)- IS 694 1990.	Rmtr	0.000	0.00		
9	c1	3C x 4.0mm2 1100V grade flexible copper conductor sheathed				0	
		FLRS PVC cable (P, N, IG)- IS 694 1990.	Rmtr	0.000	0.00	U	
0	c2	TLKS PVL Cable (F, N, Id) ISOVE 1770	problem from	TO CHEST AND A SECOND			
1		EARTHING (In absence of D.G.Vendor)	THE COUNTY OF				
1		Supply Laying of 25mmX3mm GI strips with necessary G. I.					
		Clamps fixed on wall cable conduit with screws in an approved	Mtre	0.000	0.00	0	SERVICE STREET, SERVICE STREET
7	a.1	manner	Mtrs	0.000	1000		
-		Supply Laying of 25mmX3mm CU strips with necessary G. I.					
		Clamps fixed on wall cable conduit with screws in an approved			0.00	0	
		manner	Mtrs	0.000	0,00		
		The state of the s	Miles Control	THE RESERVE OF THE PERSON NAMED IN		76	
3	a.2	13574 comm Farth Alu Armd cable For Roof Lob) with necessary		The second second			
3	aZ	25X4 sqmm Earth Alu.Armd cable (For RoofTop) with necessary G. I. Clamps fixed on wall cable conduit with screws in an			0.00	0	

Aloed 5/24

		1							
	No. of London		35X4 sqmm Earth Alu Armd cable (For RoofTop) with necessary G. I. Clamps fixed on wall cable combust but here.						
1	1.1		G. J. Clamps fixed on wall cable conduit with screws in an approved manner.					STATE OF THE PARTY OF	
100			approved manner.						
176	a.5		9 SWG GI Koophetson	Mtrs	0.000	0.00	Ó	阿里拉斯	- 0
177		1000	cable conduit with screws in an approved manner. 8 SWG Cu Wire wath screws in an approved manner.		Ē.				0
177	a.6		B SWG Cu Wire with necessary G. J. Clamps fixed on wall cable	Mtrs	0.000	0.00	0		
			conduit with screws in an approved manner. Supply, Installation 7						0
			Supply, Installation, Testing Commissioning of long life. Maintenance Free advance commissioning of long life.	Mtrs	0.000	0.00	0		TO MAKE MAKE MAKE MAKE MAKE MAKE MAKE MAKE
			Maintenance Free advance chemical Earthing System with 20 year service warranty with 8 feet Ventral Pine (Ch. 1997)						
178			year service warranty with 8 feet Vertical Pipe in pipe Gi Not less than 1.5" (40mm) 1D and not less than 1.5 mm well bleimen.						
110	a.7		than 1.5" (40mm) ID and not less than 1.5mm wall thickness,		5				
			Supply two w	No. s	0.000	0.00	0		0
			Supply, Installation, testing and commissioning of earth pits comprising 600x600x 3mm thick G.L. electrode plate 25 may 45	ING. S	Uduu	0.00		A 100 Miles	
			medium classes and classifications plate 25 min dia						
170	a.8		medium class watering G.I. pipe, G.I. funnel with 20 gauge GJ wire mesh, masonary chamber with concrete base GI makely with						
190	a.9	The same of	with contract trase, of manner cover						
181		SECTION STREET	1.0 Sq.nim Cv. Et	No. s	0.000	0.00	0		0
				Rmtr	0.000	0.00	0	建筑是一个企业。	0
182	a.11			Rmtr	0.000	0.00	0		0
			- Constitute Deddings - 1	Rmtr	0.000	0.00	0	TOTAL CONTRACTOR	· ·
			necessary brickwork at all sides with 124 cement sand metal morter bed as PCC IPS plaster property.						
			morter bed as PCC upg at all sides with 1 2 4 cement sand metal						
	a.12		respects Plaster off vertical edges, complete in all	-					0
184			Cable Trays	Sqft	0.000	0.00	0		0
			Providing erecting Hot deeped Galvanised Perforated type Cable	K 19					
			tray manufactured from 18 swg (1.6 mm thick) GI sheet of 300						
			mm width 50 mm height complete with thick) GI sheet of 300				13.66		
185	a.1		hardware in approved manner. Including Paints	Dente	0.000	0.00	0		0
			The state of the s	Rmtr	0.000	0,00			
	1		Providing erecting Hot deeped Galvanised Non -Perforated type						
			and they manufactured from 18 says (1 6 mm think) Claiment of						
			300 min width 50 mm height complete with passesser complete						
186	5 a.2		Iprates nardware in approved manner Including Paint	Rmtr	32.000	775.00	24800		196
			Providing erecting Hot deeped Galvanised Perforated type Cable	0.0000000000000000000000000000000000000					
			tray manufactured from 18 swg (1.6 mm thick) GI sheet of 200						
			mm width 50 mm height complete with necessary coupler plates						
18	7 a.3		hardware in approved manner including Paint	Rmtr	0.000	0.00	0		
			Providing erecting Hot deeped Galvanised Non-Perforated type						
			Cable tray manufactured from 18 swg (1.6 mm thick) GI sheet of						
			200 mm width 50 mm height complete with necessary coupler			975.00	0		0
18	8 a.4		plates hardware in approved manner.Including Paint	Rmtr	0.000	875.00			to talk the same
			Providing erecting Hot deeped Galvanised Perforated type Cable						
			tray manufactured from 18 swg (1.6 mm thick) GI sheet of 100						
			mm width 50 mm height complete with necessary coupler plates		0.000	0.00	0		1
18	9 a.5		hardware in approved manner.Including Paint	Rmtr	U.UUU	NOTE OF STREET OF STREET		企业保险 图 图 1000 m	
			Providing erecting Hot deeped Galvanised Non-Perforated type						
			Cable tray manufactured from 18 swg (1.6 mm thick) Gl sheet of						
			100 mm width 50 mm height complete with necessary coupler						
			plates hardware in approved manner.Including Paint	Rmtr	0.000	0.00	0		
19	0 a.6		Providing erecting Hot deeped Galvanised Perforated type Cable						
			Items manufactured from 18 swg (1.6 mm thick) GI sheet of 50 mm					(C. 257)	
			width 50 mm height complete with necessary coupler plates						
	1 - 7		hardware in approved manner Including Paint	Rmtr	0.000	0.00	0	Sales and Sales	
19	1 a.7	O PERSON							
			Providing erecting Hot deeped Galvanised Non-Perforated type						
			g the same granufactured from 18 swg (1.6 mm thick) Gi sneet of						
			50 mm height complete with necessary coupler	Diese	0.000	0.00	0		
10	12 a.8		bandung in approved manner including Paint	Rmtr	0.000	3.00			
12	2 4.0	2000	at 2MM thick GI factory fabricated raceways						
			- fries following sizes including providing removable						
			complete required including floor supports, bends, access obtes						
10	93 b		and Committees	Rmtr	0.000	0.00	0		
	94 b.1		300mm wide x 40mm deep	Rmtr	0.000	850.00	0	The second line was a second line with the second l	
	95 b.2		150mm wide x 40mm deep	Rmtr	0.000	750.00	0	The second linear contract of the se	No. 100 Pt. Co. 100 Pt.
1	96 b.3		100mm wide x 40mm deep	Rmtr	0.000	650.00	0		
1	97 b.4		50mm wide x 40mm deep	医					
	98		Electrical Related Civil work					100000	(A (A (A (A (A (A (A (A (A (A
A SPECIAL			Excavation Cheselling under floor for laying cables conduits in			250.25	7378		0%
			Excavation Cheselling under hour to the with finishing etc wall or floor as per requirement, complete with finishing etc	Sq.Mtr	21.080	350.00	13/8		BOOM TO BE SEEN SHOOL
1	99 a.1		wall or moor as per requirement				THE RESERVE OF THE PARTY OF THE	10 25 TO 10	10 Car (10 Car)
	00 a		Geyser SITC of Digital instant GEYSER ABOVE SINK 3 ltr (Ao Smith or			0.00			
201	month (Million)		equivalent)instant with required accessories) (25 bar AO smith or equivalent used abov	No.	0.000	0.00			A STATE OF THE STA
	SECTION AND ADDRESS.		equivalent)instant with required accessories) SITC of Storage Geyser (25 ltr) AO smith or equivalent used above	e	1 200	35000.00	35000		0%
	01 a1.						33000	A STATE OF THE PARTY OF THE PAR	
	01 a1.		SITC of Storage devant (accessories	No	1.000	2300000			
2			3 way sink with required accessories 3 way sink with required accessories	No	1.000	- Decolor			
2			3 way sink with required accessories 3 way sink with required accessories Music System CONDUITING WIRING FOR TELEPHONE DATA MUSIC AND COMPUTER SYSTEM	No	1.000				

1	SITC of Sony Music System (DAV DZ - 350) or Equivalent Make 5.1	no	0.000	0.00	0		
a.2	Wiring to music speakers with 2 pairs 40 0.076 flexible wire (PVC insulator, annealed or surface mounted 20 25 mm PVC conduit as directed (from speaker outlet to music junction box).		0.000	0.00	0		
a.3	Details- Electrical (C) below)	Nos	0.000	0.00	0		
a.4 a.5	Providing and drawing RG-58 co-axial cable for computer system in existing PVC conduit.	Rmtr	250.000	75.00	18750	04	
a.6	Cat-6 Cable for Switch to Camera inlcuding conduit.	Rmtr	120.000	75.00	9000	00	
a.7	1. o riate including necessary lack and connections	Nos	4,000	1550.00	6200	04	-
b	VGA cable Including spliter	Rmtr	75.000	135.00	10125	00	/6
b.1	150mm x 200 x 40mm (W x H) - (18 SWG - 2 mm) with cover with one partition.	Fach	2.000	2050.00	4100	04	%
b.2	100 x 100 x 40mm deep with cover plate for makeline Slap Table Biometric	Each	20.000	1850.00	37000	04	%
b.3	300 x 300 x 100 mm deep boxes with cover plate for Electrical Panel	Each	5.000	2850.00	14250	06	%
b.4	Supplying and fixing 1.6 mm thick MS junction outlet	Each	0,000	3200.00	0		

Journal 1/24

	(4) (2) (2) (2) (2) (2) (2) (2) (2) (2) (2			A SHIPPING AND A	MACHINES COLD SEE	CHESCALL STREET	01
151	14554 RH HOOKED ACACIA LAMINATE, MERINO WITH 2mm THK. REHAU MAKE MATCHING EDGE BAND. Inisde laminate Merino Lam 21141 snow white) and table top to be finish with 6 mm thk LG Hausys -109 Hi Macs over marine Ply with necessary support framework as approved, Cost to	THK REHAU MAKE MATCHING EDGE BAND Inisde laminate Merino Lam 21141 snow white I and table top to	0.000	0.00			

Andh 27/5/24